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Database

Record I

getKey(): Key

insert(Record r): boolean
find(Key k): Record
delete(Key k): boolean
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Kev

equals(Key y):
boolean
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— Key id;
MO QFtet = String name;
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s E ;q getKey(): Key;
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Record |, Record?
1 . Key code;
getKey(): Key | *+, String title;
. ‘4 boolean is_borrowed;
Database getKey(): Key;
insert(Record r): boolean
find(Key k): Record Kevi
delete(Key k): boolean ¢ —
K/ private int no;
Database &M= Kev o’ equals(Key1 y):
D |2 OF=sk= OdLE ‘
oﬁl_l:lil (I)_: ;}El-lz)l(zl & equals(Key y): ['s Kev2
. boolean . string category;
'y private int no;
equals(Key?2 y): boolean




H|O[EIH|O] A AL

JavaOi M= Ol2{eh HAM|Z 2IH
H|0|A(interface)2t SHCt.
ClIEmo[A = F0] QLY.

Recordf

Record

getKey(): Key N

Key id;
String name;
, getKey(): Key;
'/' Record? I
k. Key code;

String title;

‘4 boolean is_borrowed;
getKey(): Key;
JavaOiM= Ol2|et 2ehAS
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O 1interface Key { boolean equals(Key y); }
O 1interface Record { Key getKey(); }
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class IntegerKey implements Key {

private int key;
public IntegerKey(int 1) { key = 1; }
public int getInt() { return key; }

M M|=l CHE2 Is I AEZS &HA
boolean equals(Key k) { KeyOil BMlEl Ti= equals Bl=ES A
return key == ((IntegerKey)k).getIntQ);

}
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class CodeKey implements Key {
private String category;
private int code;
public CodeKey(String s, int 1) { category=s; code=1i; }
public String getCategory() { return category; }
public int getCode() { return code; }

KeyOll M=l CHE equals HIAEE =Y
boolean equals(Key k) { y d =T

CodeKey ck = (CodeKey) k;
return category.equals(ck.getCategory()) &&
code == ck.getInt();
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class Database {
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private int find(Key k)

{
for (int 1=0; i<base.length; 1++)
1f(base[1]!=null && k.equals(base[1].getKey()))
return base[1i];
return null;

}
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,

class Database {

private Record find(Key k)
{

for (int 1=0; i<base.length; 1++)
1f(base[1]!=null && k.equals(base[1].getKey()))
return base[1i];
return null;
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interface Key { Z|77|12| H| & 2~ QIo{0F St}
boolean equals(Key y);
}

class IntegerKey implements Key {
private int key;
public IntegerKey(int 1) { key = 1; }
public int getInt() { return key; }

boolean equals(Key k) {
return key == ((IntegerKey)k).getInt();

= 7|77|2] 5| W5t AH26...
boolean equals(IntegerKey k)= StH 2271 7?
=> 12{™ interface Keydl| /=22 QHE!

}
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O boolean equals(Key k) { ... (IntegerKey) k ... }
O IntegerKey 1k; CodeKey ck;
O 1k.equals(ck);

O HSHA AAlsh= HE2?
O 1f(k instanceof IntegerKey) {
. (IntegerKey) k ...

}
else { 25Xz }
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interface Key {

boolean equals(Key y);

}

class IntegerKey implements Key {

boolean equals(Key k) {
1f(k instanceof IntegerKey)
return key == ((IntegerKey)k).getInt();
else
return false;
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O class Card2} class CardDeck2 0f|M ZdS AR
O class Dealer= H S FIEH
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O interface CardPlayerBehaviour= A2 &
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public interface CardPlayerBehaviour {

public boolean wantsACard();
public void receiveCard(Card c);
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public abstract class CardPlayer implements CardPlayerBehaviour
{

private Card[] my_hand;

private int card_count;

public CardPlayer(int max_cards) {
my_hand = new Card[max_cards];
card_count = 0;

¥
public abstract boolean wantsACard();

public void receiveCard(Card c) {
my_hand[card_count] = c;
card_count = card_count + 1;
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import javax.swing.*

public class HumanPlayer extends CardPlayer {
public HumanPlayer(int max_cards) {
super(max_cards);

¥
public boolean wantsACard() {

String response = JOptionPane.showInputDialog
("Do you want another card (Y or N)?");
return response.equals("Y");
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public class ComputerPlayer extends CardPlayer {
public ComputerPlayer(int max_cards) {
super(max_cards);

}
public boolean wantsACard() {

int sum = 0;

for(int 1=0; i<card_count; i++)
sum += my_hand[1].getCount();

return sum < 15;




CardPlayerBehavior

wantsACard(): boolean
receiveCard(Card c)

A

CardPlayer

wantsACard(): boolean
receiveCard(Card c)

HumanPlayer

ComputerPlayer

wantsACard(): boolean wantsACard(): boolean
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